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1p 18 Which of the following fits the gap in paragraph 8? 
A eliminate 
B ignore 
C liberalise 
D restore 
 
 

Tekst 6  Are You Too Smart to Think Wisely? 
 

1p 19 What conclusion can be drawn about Einstein and Conan Doyle from 
paragraphs 1 and 2? 
A Despite their shameful behaviour at times, they remained popular with 

their followers. 
B Their inability to see through obvious deceit made them objects of 

ridicule. 
C Their promotion of outdated convictions was damaging for their public 

image. 
D Though they were clearly gifted, they made some remarkable errors of 

judgement.  
 

1p 20 What is the main point made about intelligence in paragraph 3? 
A It branches out in different directions over time. 
B It is a complex and many-sided concept. 
C It takes a genius to understand the construct. 
 

1p 21 Which of the following fits the gap in paragraph 4? 
A ignorant of 
B prejudiced against 
C sensitive to 
D shocked by  
 

1p 22 Which of the following best captures the phenomenon described in 
paragraph 5? 
A abstract thinking 
B cultural misunderstanding 
C motivated reasoning 
 

1p 23 Which feature of intelligence is presented in paragraph 6? 
A the ability to absorb vast amounts of complex information quickly 
B the ability to focus intensely on just one subject of research 
C the ability to make systematic use of the available data 
D the ability to reach correct conclusions based on intuitive insights 
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1p 24 Which sentence fits the gap in paragraph 7? 
A Fortunately, a person’s cognitive potential can be improved by training 

and some finetuning. 
B Still, high intelligence is more a blessing than a curse and those who 

possess it have a head start in life. 
C The cognitive pitfalls outlined above might constitute a dangerous 

intelligence trap for super smart people. 
D This quest for genius itself can become a hopeless mission and have 

serious implications for society.  
 

1p 25 Which type of intelligence is one of those the author herself lacks, 
according to paragraph 8? 
A ‘analytic intelligence’ (paragraph 3) 
B ‘practical intelligence’ (paragraph 3) 
C ‘creative intelligence’ (paragraph 3) 
 
‘Open-mindedness, continuous self-questioning and a willingness to 
change one’s mind’ (alinea 9) 

1p 26 In welke alinea wordt het ontbreken van deze eigenschappen voor het 
eerst expliciet genoemd als een zwakte van zeer intelligente mensen? 
Noteer het nummer van deze alinea. 
 
 

Tekst 7  The white stuff 
 

1p 27 Which of the following fits the gap in paragraph 1? 
A Back off vegetarians 
B Calm down cheapskates 
C Move over cows 
D Speak up hipsters  
 
‘both for the body and the planet’ (alinea 2) 

1p 28 In welke alinea wordt voor het eerst een effect van alt-milk op het milieu 
genoemd? 
Noteer het nummer van deze alinea. 
 

1p 29 How is paragraph 5 linked to paragraph 4? 
A It analyses the reason for the alt-milk controversy outlined in 

paragraph 4. 
B It counterbalances negative aspects of alt-milk mentioned in 

paragraph 4. 
C It evaluates a specific type of alt-milk that is elaborately discussed in 

paragraph 4. 
D It explains why regular milk is better than the alt-milk described in 

paragraph 4. 
 
 


